Popper 15
3. Find ¢ such that P(Z > ¢) = 0.7728 772y

.0 il

b, .1 ;l\rsba_bd_,, —m\
RPRERTY . o

d. & — .74 0

Plz<c)= .2212
MyNora (.2272)
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A game of chance is based on rolling a die two times in succession. The player wins if the larger of the two numbers is greater than 3.
Which of the following siations would simulate 9 plays of this game?
e

a)  Choosing 9 %jm‘fmm the random number table (discarding 0.7 .8, and 9). 3 L{,

I}L”"(’fhmsm single digits from the random number table (discarding 0.7 3. and 9).

¢) © Choosing 54 digits from the random number table (discarding 0.7 8, and 9).
d) Choosing 2 single digits from the random number table (discarding 0.7 8, and 9).

e) None of the above
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31. The following data indicates the number of hours a swimmer practiced during a week and his best K - c‘ ( :1 ‘;
1| X time on the 50 meter free style that week. '

L, _
M-% cticing [ 2.5 4 4.5 6 7 s 8.5 9 11 E -cf 1"{,53{

FM(X*]EP

Time/sec 2933 28.76 | 28.01 27.96 27.99 27.35 27.02 26.85 26.09

7h

f’ggpn s

Identify the explanatory and response variables for this situation.

Create a scatterplot o }{-)
Give the equation for the LSRL and plot the LSRL on the scatterplot L&
Find the correlation coefficient and the coefficient of determination. What do each of these tell

you about the data? Lb r Y \
Based on your answers to b and d, is this a good model? g?_‘, %
Plot the residuals vs explanatory variables.

Based on your answer to £, do you still think your LSRL is the best model? 3

Find the residual value that corresponds to the explanatory variable value of 4.

pooE

PR o

seatplt caluwdodor @ 9 Giabplet | make Sure

© e Pl{ﬁ v owl L v Lg - GQ}}PH—ZODMQ

c. Stat-cale - § ( I}m h.}w:;
L, }LEJ Yl 'I\E'lﬂk‘r?

~ VRARS -~ YYARS -gNTer ENTERL .

LinReoy A\
7 2230 10494253 % = 30.10§ - 30X
Pe.oagsa30899— LoDl of derm.
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Res duds Stadpht L, 45 (no 3)

L= Ly- Y. (L) <epter?

M e
— —
> resid(imCy~x)) Z[ res d, ‘FUY' X = 4
3 4

1
0.172441052 ©.05482799 -0.47610632 ©.81358575

5 B 7 8
@.40324713 -0.05688218 -0.02714880 -0.01727011
9

-B.B5778736 T

rﬂ_“;.l_w 'A]TY- =75 =2 L n List
plot (X, r‘ﬁid[lm{l‘_mm)) o .
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34. A pame is played with the spinner below. If your spin lands on A, vou win 81. If your spin lands on
B, you lose $1. If the spinner lands on C, nothing happens. Ten people are playing the game.
a. Using single digits from the random digit table, describe how you will run a simulation for the
10 players.
b. Using line 120 from the random digit table, carry out the simulation 3 times.
c. Based on your simulation, how many people won 31 for each run? How many lost $17

P(m) = .25 D1-25 = A -
P(B) = .50 26L-50 = BC
P(C) = .25 51-99 00 = B

W
Vires

[~2=h
3-6 =p
1-%=¢
+rss out 0,9
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7. Y v N(383,4)

£ P/XQ&) =.97125

T
robabdry . X-¥D
? i 0= A5

3 = Y Y2

InvWNerm [97785) = 2.0
Z StoReE

E]_v_Nurm(.Q’ms] 92,4) = 90, 0
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26. Consider a uniform density curve defined fron:‘x =]ltox= B.J
a. What is the height of the “curve™?

b. What percent of observations fall between x=2 and x=57
c. What percent of observations fall below x = 47

d. What percent of observations fall above x = 67

e. What percent of observations equal 77 0

=

N-b i

”’LW//MJ%J i o

1\—“‘{*”5192

b Placexes)= 3] =4agLy

tr b(X(J_[\ = 3/7 = 49,72L°,

. P(}(‘;L,\ = Y, - 33579
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15. If the director sclccts—ElJ employees at random from throughout the company %ud cateporizes their
lunchtime practices by  gender, she 1s:
(&) blocking for gender
b. testing for a lurking variable
¢. promoting sexual harassment
d. testing for bias
¢. none of these

Use the following information to answer questions 13-15:

A personnel director at a large company studied the eating habits of employees by watching the movements of
a selected group of employees at lunchtime. The purpose of the study was to determine the proportion of
employees who buy lunch in the cafeteria, bring their own lunches, or go out to lunch.
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320 1000 students were asked to give their favorite subject and favorite video game (chosen from a list).
¢ results are recorded in this two-way table:

Math Science English Social Studies .
Zelda 66 [ 4 70 1 40 3 5= L
Final Fantasy + 54 75 ) 60 ) 30
Tomb Raider + 35 50 80 S0
Assassin’s Creed A4 45 40 60 100
None of these 4 10 5 20 35
— 1 naod
— =
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